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�"���� �����#����$���������#�%
 
�!&'�'
�# ���	��������#�������� (�)*�+��,!#� 6 '0���$��#�����8������ 5 !"��  4*��&. ��$)*�+�
&$�&�$���������
������&�� 	;1$���
 0���#� 
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�
�
) 3  %�0���������.�&����	�� ��1��%�������0�����#����$1��	
����
� 
               �������������
�� ������ ����
�
����������������� !�� �
�"���� �����#����$������ 
               ���#�%
 �!&'�'
�# ���	��������#�������� (�)*�+��,!#� 6 '0���$��#�����8  5 !"�� 

 

1$�!#� ������ X  S.D. � 0��&����	�� �� 
1 ��
�5�������#����$ 

1.1 ��
�5����0&
$������
�����#����$ 
1.2 ��
�5��&���&
����� �����#����$ 
1.3 ��
�5���#&�����0���1��6�+�!#���$ 

 

4.40 
4.20 
4.00 

 

0.55 
0.84 
0.71 

 

��� 
��� 
��� 

�I
#�� 4.20 0.84 ��� 
2 �
�����#����$!#�&�0	��� 

2.1 �
�����#����$!#�&�0	�����0&
$������

�����#����$!#�&�0	���1���
�"���� �����#����$
���������#�%
 �!&'�'
�#��	
����
� 
2.2  �
�����#����$!#�&�0	���&���&
��

��+. �����#����$0$��&�����$  !��+   ��
&
� 
2.3  �
�����#����$!#�&�0	����#&�����0���
1��6�+�!#���$�"��  �1$����"�� 
2.4 �
�����#����$!#�&�0	�����0&
$�����
&���
$�����1��!$��(��� 
2.5   �
�����#����$!#�&�0	����	�� �����
	
����
� 
2.6 �
�����#����$!#�&�0	����	�� �����
� 0������ 

 

4.00 
 

 

4.00 
 

3.80 
 

4.00 
 

4.00 
 

3.40 

 

0.71 
 

 

0.71 
 

0.84 
 

1.00 
 

0.71 
 

0.55 

 

��� 
 

 

��� 
 

��� 
 

��� 
 

��� 
 

����
�� 
 

�I
#�� 3.87 0. 98 ��� 
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�
�
) 3   (�1�) 

1$�!#� ������ X  S.D. � 0��&����	�� �� 
3 ��0�� ��&;�����#����$ 

3.1 ��0�� ��&;�����#����$��0&
$������
���
��#����$!#�&�0	��� 
3.2 ��0�� ��&;�����#����$��0&
$�������
�5�� 
3.3 ��0�� ��&;�����#����$��0&
$�������� ���
��#����$ 
 

 

4.00 
 

4.00 
3.60 

 

0.71 
 

0.71 
0.89 
 

 

��� 
 

��� 
��� 

�I
#�� 3.87 0.91 ��� 
4 ��� �����#����$ 

4.1 ��� �����#����$!#����	�0��0&
$������
���
��#����$!#�&�0	��� 
4.2 ��� �����#����$��0&
$���������������
��#����$ 
4.3 ��� �����#����$�	�� �������
� 
4.4 ��� �����#����$�#&���(��
$�� 
4.5 ��� �����#����$�	�� �����&�������1��
��$��#�� 
4.6 ��� �����#����$�#�����0��#��
��0��&������
�"��1�������	���� /0$�	�� �� 

 

3.80 
 

4.40 
 

3.80 
3.80 
3.80 
 

4.40 
 

 

0.84 
 

0.89 
 

0.84 
0.45 
0.45 
 

0.89 

 

��� 
 

��� 
 

��� 
��� 
��� 
 

��� 

�I
#�� 4.00 0.59 ��� 
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�
�
) 3   (�1�) 

1$�!#� ������ X  S.D. � 0��&����	�� �� 
5 �� ��������#����$ 

5.1 �� ��������#����$��0&
$������
�����#����$
!#�&�0	��� 
5.2  �� ��������#����$ �	�� ��������%
 
&��������(1����$��#�� 
5.3 �� ��������#����$�	�� ������6��!$��(���
%
 ������/���$ 
5.4 �� ��������#����$�	�� �������
� 
5.5 �� ��������#����$��$��� �������
�"� ���
�J���
����� 
5.6 �� ��������#����$��N0'�����	$��$��#��/0$
%�0����!���0$��&���&�0 &�����$�*� %
 ���
�J���
� 

 

4.20 
 

4.00 
 

4.00 
 

3.80 
4.00 
 

4.00 
 

 

0.84 
 

0.71 
 

0.71 
 

0.84 
1.00 
 

0.71 

 

��� 
 

��� 
 

��� 
 

��� 
��� 
 

��� 

�I
#�� 4.00 0.59 ��� 
6 ���������#����$ 

6.1 ���������#����$��0&
$�������� �����#����$
%
 ������������#����$ 
6.2 ���������#����$�	�� ��������%
 ����6�� 
1����$��#�� 
6.3 ���������#����$�� 
�$�&�������1����$��#�� 
6.4 ���������#����$�����(��0/0$�"����!$��(��� 
6.5 ���������#����$�����(���/���$/0$�"��%
 
� 0�� 
6.6 ���������#����$��0
��0��1���
�������!�����/0$
�	�� ��	��������$6�+� 

 

4.00 
 

4.20 
 

4.20 
4.20 
4.00 
 

4.20 

 

0.71 
 

0.84 
 

0.84 
0.84 
0.71 
 

0.84 

 

��� 
 

��� 
 

��� 
��� 
��� 
 

��� 
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�
�
) 3   (�1�) 

1$�!#� ������ X  S.D. � 0��&����	�� �� 

 
6.7 ���������#����$�#&�����0���������?����	���
�����$6�+� 

3.80 0.84 ��� 

�I
#�� 4.09 0.69 ��� 
7 �����0%
 �� �����
 

7.1 �����0�
%
 �� �����
��0&
$������
���
��#����$!#�&�0	��� 
7.2 �����0%
 �� �����
�	�� �������� ���
��#����$ 
7.3 �����0%
 �� �����
�	�� �����
�� ��������#����$ 
7.4 �����0%
 �� �����
��$��?#�����0%
 
�� �����
	
�� O ��?# 
7.5 �����0%
 �� �����
�#��?#�����0%
 
�� �����
��"����0��� 
7.6 �����0%
 �� �����
&���&
��!���0$����!?�
����� ��
����� %
 !��+ ����� 

 

4.00 
 

4.20 
 

4.00 
 

3.80 
 

4.00 
 

3.80 
 

 

1.00 
 

0.84 
 

0.71 
 

0.84 
 

0.71 
 

0.84 
 

 

��� 
 

��� 
 

��� 
 

��� 
 

��� 
 

��� 

�I
#�� 3.97 0.66 ��� 
&"��I
#����� 3.99 0.57 ��� 

 

 ���
���� 3  %�0��
��������.�&����	�� ��1��%�������0�����#����$1��
	
����
��������������
�������� ����
�
����������������� !�� �
�"���� �����#����$������
���#�%
 �!&'�'
�# ���	��������#�������� (�)*�+��,!#� 6 '0���$��#�����8 ������ 5 !"�� ���"� 
�#&����	�� �����"��� 0����� �#&"��I
#���!"���� 3.99 ����������.���>����0$�� ���"� 0$��
��
�5�������#����$  &"��I
#��  4.20  0$���
�����#����$!#�&�0	���  &"��I
#��  3.87  0$����0�� ��&;
�����#����$  &"��I
#��  3.87  0$����� �����#����$  &"��I
#��  4.00  0$���� ��������#����$  &"��I
#��  
4.00  0$�����������#����$  &"��I
#��  4.09  0$�������0%
 �� �����
  &"��I
#��  3.99 
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 ���������� 3  	
��,��)0.����	�����
-�
.
�"
����
� ��#��)  	
���
��� 
&�/)��
!
	0�	�����  	�/1��
��	
����-����	
�)
��
.�"+�����2�2�-�  � 
������	���-�.���
&��*�34	5
&6��� 6  
 ��������&�� 	;�
���!0
����$	
����
��������������
�� ������ ����
�
�������������
���� !�� �
�"���� �����#����$���������#�%
 �!&'�'
�# ���	��������#�������� (�)*�+��,!#�6 
%�0��
���P!?�Q!�������#��%
 !��+ ����J���
�����
�
����������������� !��	
�������#��
0$��	
����
��������������
�� ������ ����
�
����������������� !��  �
�"���� �����#����$      
���������#�%
 �!&'�'
�# ���	��������#�������� (�)*�+��,!#� 6 �����.M;�$��
  75 
 

�
�
) 4  %�0�������#���!#���
���P!?�Q!�������#��1�������#�������� (�)*�+��,!#� 6  
            	
�������#����$0$��	
����
��������������
�� ������ ����
�
����������������� !�� 
               �
�"���� �����#����$���������#�%
 �!&'�'
�# ���	��������#�������� (�)*�+��,!#� 6  
               �����.M;�$��
  75 
 

���!0��� n X  S.D. µ t Sig 

��.M;�$��
  75 
	
����#�� 

 

20 

 

16.50 

 

1.05 

15  

6.38** 
 

0.000 

 **p < .01 
 
 ���
���� 4 ���"� �
���P!?�Q!�������#��1�������#�������� (�)*�+��,!#� 6 	
�����
��#����$0$��	
����
��������������
�� ������ ����
�
����������������� !�� �
�"���� �����#����$
���������#�%
 �!&'�'
�# ���	��������#�������� (�)*�+��,!#� 6 �#& %���I
#���!"���� 16.50
%
 ��������#���!#�������.M;& %��	
����#��1�������#�������"���.M;��"���#������&�8!���(�
�
!#�� 0��  .01 
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�
�
) 5  %�0�������#���!#��!��+ ����J���
����1�������#��  ������ (�)*�+��,!#� 6  
                  	
�������#����$0$��	
����
��������������
�� ������ ����
�
����������������� !��

�
�"���� �����#����$���������#�%
 �!&'�'
�# ���	��������#�������� (�)*�+��,!#� 6 
�����.M;�$��
  75 

 

���!0��� n X  S.D. µ t Sig 

��.M;�$��
  75 
	
����#�� 

 

20 

 

17.25 

 

1.19 

15  

9.20** 
 

0.000 

 **p < .01 
 

 ���
���� 5 ���"� !��+ ����J���
����1�������#�� ������ (�)*�+��,!#� 6 	
�����
��#����$0$��	
����
��������������
�� ������ ����
�
����������������� !�� �
�"���� �����#����$
���������#�%
 �!&'�'
�#  ���	��������#�������� (�)*�+��,!#� 6  �#& %���I
#���!"����  17.25 
%
 ��������#���!#�������.M;  & %������� ����!��+ ����J���
����1�������#�������"���.M;
��"���#������&�8!���(�
�!#�� 0��  .01 
 

 ���������� 4   	
�34	5
��
�"4)"�0!��)��	���-�������1�	
�!�,	
����-�����
�
���	�����
-�
.
�"
����
� ��#��) 	
���
��� 
&�/)��!
	0�	����� � 
������	���-�.���
&��*�34	5
&6��� 6   
 �
���)*�+�&����*�����1�������#��!#��#
"������0������������#����$
��	
����
�
�������������
�� ������ ����
�
����������������� !�� ���	��������#�������� (�)*�+��,!#� 6 
&. ��$)*�+�&$�&�$�/0$������� 0���#� 
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�
�
) 6  %�0�&"��I
#�� &"���#��������
�5��  &����*�����1�������#��!#��#
"� 
            �����0�����#����$
��	
����
��������������
�� ������ ����
�
����������������� !��  
               �
�"���� �����#����$���������#%
 �!&'�'
�# ���	��������#�������� (�)*�+��,!#� 6   
 

1$�!#� ������ X  S.D. � 0��&����*����� 

1 0$�������	�1��	
����
� 
1.1 �����	�1��	
����
�!#���#���"����� 
1.2 �����	�1��	
����
�!#���#��/�"�������/� 
1.3 �����	�1��	
����
��	�� %�"������/���$��
�#��
�� ������1�������#�� 
1.4 �����	�1��	
����
���0&
$�����&�������%
 
&���
$�����1�������#�� 
1.5 �����	���� 1��	
����
���#�������������
�����	�&�����$ 
1.6 �����	�1��	
����
�!#���#���	$&�����$��#������
&�.?���  ����?��� 
1.7 �����	�1��	
����
��#&�.&"�%
 �#�� '���; 

"���$��#�� 

 

4.05 

3.90 

3.80 

 

3.90 

 

3.70 

 

3.85 

 

3.80 

 

 

0.69 

0.64 

0.70 

 

0.55 

 

0.80 

 

0.59 

 

0.70 

 

��� 
��� 
��� 
 

��� 
 

��� 
 

��� 
 

��� 
 

�I
#�� 3.86 0.29 ��� 
2 0$��������������#�������� 

2.1 ������������#��������
��	
����
��"����� 
2.2 ������������#��������
��	
����
��#&���

"�������	
��	
�� 
2.3 ������������#�������������
��	
����
� 
�����!��0$���
��788�%
 !��+  
2.4 ������������#�������������
��	
����
� 
�����!��+ !��0$�����&� ����?��� %
 &"����� 
2.5 ������������#��������
��	
����
�  
��$�������&�.
��+. ����*��� ��&;  

 

3.90 

3.90 

 

3.80 

 

3.90 

 

3.85 

 

0.72 

0.72 

 

0.70 

 

0.64 

 

0.67 

 

��� 
��� 
 

��� 
 

��� 
 

��� 
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�
�
) 6  (�1�) 

1$�!#� ������ X  S.D. � 0��&����*����� 

 2.6 �����0������������#����$�������J���
����� 
!���	$�1$���	
����
�/0$0#1*�� 
2.7 �����0������������#����$�"��	$���0�����#����$��"��
�#&�����1 
2.8 �����0������������#����$��N0'�����	$�����#��
4��(�� %�0�&���&�0�	S� 
2.9 �����0������������#���#��������"�����  ����  
�� 
�$��	$�����#�������1$��"��������� 

3.85 

 

3.85 

 

4.10 

 

4.05 

0.75 

 

0.67 

 

0.64 

 

0.76 

��� 
 

��� 
 

��� 
 

��� 
 

�I
#�� 3.91 0.22 ��� 
3 0$�����������#�������� 

3.1 ���������#��������!���	$��$��#���1$����������	� 
3.2 ���������#���������#&���	
��	
�� 
3.3 ���������#���������#&����"��
"������$��� 
3.4 ���������#���������#&����	�� �������$��#�� 
3.5 ���������#���������#&����"����� 

 

3.75 

4.05 

4.15 

4.15 

4.05 

 

0.55 

0.60 

0.59 

0.59 

0.60 

 

��� 
��� 
��� 
��� 
��� 

�I
#�� 4.03 0.28 ��� 
4 0$�������0�
�� �����
 

4.1 �����0�
�� �����
�"��!���	$��$��#����$
&��������(1��
���� 
4.2 �����0�
�� �����
�"���	$��$��#�������
���� 
4.3 �����0�
�� �����
�#��?#�����0�
�� �����
!#�
�	�� �� 
4.4 �����0�
�� �����
�#��?#����� ����	
��	
�� 
4.5 �����0�
�� �����
�#��$�� ������"��	
��	
��
4.6 �����0�
�� �����
�#��.M;� ����"����0��� 

 

3.90 

 

4.05 

4.15 

 

3.80 

4.05 

4.00 

 

0.64 

 

0.76 

0.59 

 

0.70 

0.69 

0.65 

 

��� 
 

��� 
��� 
 

��� 
��� 
��� 

�I
#�� 3.99 0.62 ��� 
&"��I
#����� 3.94 0.14 ��� 



 

111 

���
���� 6 ���"� &����*�����1�������#��!#��#
"������0�����#����$
��	
����
�
�������������
�� ������ ����
�
����������������� !�� �
�"���� �����#����$���������#�%
 
�!&'�'
�# ���	��������#�������� (�)*�+��,!#� 6 '0�6�����!��1$� �#&"��I
#�����"��� 0����� 
( X = 3.94)  


